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a

Index: 0, Unicode:

Nodes: 54, Contours: 3
BBox: (0, 0) - (2800, 180)
LSB: 0, RSB: 2, Width: 2802

[

Index: 2, Unicode: 0063
Nodes: 62, Contours: 1
BBox: (0, 0) - (2800, 204)
LSB: 0, RSB: -2, Width: 2798

e

Index: 4, Unicode: 0065
Nodes: 158, Contours: 5
BBox: (0, 0) - (2784, 204)
LSB: 0, RSB: 14, Width: 2798

g

Index: 6, Unicode: 0067
Nodes: 36, Contours: 3
BBox: (0, 0) - (2800, 196)
LSB: 0, RSB: 6, Width: 2806

i

Index: 8, Unicode: 0069
Nodes: 19, Contours: 1
BBox: (0, 0) - (2800, 180)
LSB: 0, RSB: 2, Width: 2802

k

Index: 10, Unicode: 006B
Nodes: 41, Contours: 1
BBox: (0, 0) - (2800, 236)
LSB: 0, RSB: -2, Width: 2798

m

Index: 12, Unicode: 006D
Nodes: 415, Contours: 13
BBox: (0, 0) - (2800, 256)
LSB: 0, RSB: -2, Width: 2798

o]

Index: 14, Unicode: 006F
Nodes: 429, Contours: 15
BBox: (0, 0) - (2800, 252)
LSB: 0, RSB: -2, Width: 2798

q

Index: 16, Unicode: 0071
Nodes: 106, Contours: 3
BBox: (0, 0) - (2798, 309)
LSB: 0, RSB: 8, Width: 2806
Ish: 772, rsb: 1740, width: 294

S

Index: 18, Unicode: 0073
Nodes: 118, Contours: 1
BBox: (0, 0) - (2792, 192)
LSB: 0, RSB: 10, Width: 2802

u

Index: 20, Unicode: 0075
Nodes: 238, Contours: 8
BBox: (0, 0) - (2800, 492)
LSB: 0, RSB: 10, Width: 2810
Ish: 74, rsh: 93, width: 2643

w

Index: 22, Unicode: 0077
Nodes: 155, Contours: 5
BBox: (0, 0) - (2800, 256)
LSB: 0, RSB: 6, Width: 2806

y

Index: 24, Unicode: 0079
Nodes: 396, Contours: 6

BBox: (0, 0) - (2800, 416)

LSB: 0, RSB: 6, Width: 2806
Ish: 1032, rsh: 1026, width: 748
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b

Index: 1, Unicode: 0062
Nodes: 63, Contours: 2
BBox: (0, 0) - (2796, 192)
LSB: 0, RSB: 6, Width: 2802

d

Index: 3, Unicode: 0064
Nodes: 43, Contours: 3
BBox: (0, 0) - (2800, 212)
LSB: 0, RSB: -2, Width: 2798

f

Index: 5, Unicode: 0066
Nodes: 44, Contours: 1
BBox: (0, 0) - (2800, 293)
LSB: 0, RSB: 6, Width: 2806

h

Index: 7, Unicode: 0068
Nodes: 19, Contours: 1
BBox: (0, 0) - (2800, 180)
LSB: 0, RSB: -2, Width: 2798

J

Index: 9, Unicode: 006A
Nodes: 50, Contours: 2
BBox: (0, 0) - (2800, 192)
LSB: 0, RSB: 2, Width: 2802

|

Index: 11, Unicode: 006C
Nodes: 293, Contours: 17
BBox: (0, 0) - (2800, 244)
LSB: 0, RSB: 2, Width: 2802

n

Index: 13, Unicode: 006E
Nodes: 354, Contours: 15
BBox: (0, 0) - (2800, 252)
LSB: 0, RSB: -2, Width: 2798

p

Index: 15, Unicode: 0070
Nodes: 193, Contours: 16
BBox: (0, 0) - (2800, 184)
LSB: 0, RSB: 2, Width: 2802

r

Index: 17, Unicode: 0072
Nodes: 284, Contours: 3
BBox: (0, 0) - (2788, 156)
LSB: 0, RSB: 6, Width: 2794

t

Index: 19, Unicode: 0074
Nodes: 133, Contours: 4
BBox: (0, 0) - (2800, 372)
LSB: 0, RSB: -2, Width: 2798
Isb: 0, rsh: 529, width: 2269

\%

Index: 21, Unicode: 0076
Nodes: 197, Contours: 8
BBox: (0, 0) - (2800, 280)
LSB: 0, RSB: 2, Width: 2802

X

Index: 23, Unicode: 0078
Nodes: 328, Contours: 3
BBox: (0, 0) - (2800, 448)
LSB: 0, RSB: 2, Width: 2802
Ish: 824, rsh: 817, width: 1161

z

Index: 25, Unicode: 007A
Nodes: 129, Contours: 3
BBox: (0, 0) - (2800, 301)
LSB: 0, RSB: -2, Width: 2798
Ish: 25, rsh: 22, width: 2751



